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1.  Give the reasons for market failure and explain how these failures can be corrected by
public sector. 14
OR

Discuss the role of private sector and public sector in Indian economy.

2. Explain following concepts in detail : 14
(1)  Unanimity
(2) Relative Unanimity
(3) Point Voting
(4) Vote Trading
OR

Discuss the Medium Voter Theorem.

3.  Explain the classification of public expenditure. Discuss the displacement effect,
Inspection effect and concentration effect in context of public expenditure. 14

OR

Discuss Samuelson’s Pure Theory of Public Expenditure.

4. What is ability-to-pay tax ? Discuss the ability-to-pay principle for equity in taxation. 14
OR

Explain in detail the concept of Laffer Curves.
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5. For each of following questions, choose the best answer and write only its number

(a, b, c, d) in your answer sheet.

(1)

2

3)

4

(&)

(6)
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Which of the following is not the property of pure private good ?

(a) Competition (b) Preference

(c) Indivisible benefit (d) Price

Which of the following is included in the classification given by Carl Shoup ?
(a) Collective consumptive goods

(b)  Group consumptive goods

(c) Marketable goods

(d) All of the above

In lieu of market, which of the following process is necessary to know preference
of the people ?

(a) Political process (b) Price
(¢) (a) & (b) both (d) None of the above

Under the process of absolute majority the reasons for selecting that alternative
against majority is

(a) Point voting

(b) Vote trading

(c)  Unanimity

(d) None of the above

Which of the following system leads to increase in public expenditure under the
majority voting method ?

(a) Vote trading (b) Market

(c) Point voting (d) Unanimity

In which of the following pension, subsidy, interest payment etc. are included ?
(a) Exhaustive expenditure

(b) Transfer expenditure

(c) Private expenditure

(d) None of the above

14



(7) “In the initial stages of economic development out of total investment, the
proportion of investment in public sector is high.” — Who has made this statement ?

(a) Musgrave (b) Rostove
(¢) (a) & (b) both (d) None of the above

(8) Due to which of the following reasons the real income of the class which receives
fix income decrease ?

(a) Inflation tax
(b) Disguised taxation
(¢) (a) & (b) both
(d) None of the above
(9) The process by which the tax burden is shifted is known as
(a) Tax impact
(b) Tax shifting
(c) Tax incidence
(d) None of the above
(10) The decrease in value of assets due to taxation has known as
(a) Tax capitalization
(b) Tax incidence
(c) Budget incidence
(d) None of the above

(11) Which of the following is included in rate base classification of taxes ?

(a) Proportional (b) Regressive
(c) Progressive (d) All of the above
(12) The line showing relationship between tax rate, tax income and productivity is
known as
(a) Budget line (b) Marginal cost line
(c) Laffer Curve (d) None of the above
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(13) Which of the following are the characteristics of a good tax system ?
(a) Equity (b)  Flexibility
(c) Efficiency (d) All of the above

(14) “The direct monetary burden of tax is known as tax incidence.” — Who has made
this statement ?

(a) Dalton (b) Keynes

(c) Hicks (d) None of the above
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